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240,000
210,000
15,000
120,000
21,000
1,500
150,000
21,000
18,000
180,000

.18
. 60

140
0.6

. 90

160

. 09

1.4

. 2..7/9
. 2/7
. 2/3

3..1/8

. 3/7

. 3.2/3
. 2..3/4
. 3.7/8
. 5/13

. 6/17

. 900

. 27000
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Answer ~%eg’
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. 810000
. 1600

. 64000

. 125000
. 6250000
. 3600

. 216000
. 4900

. 5/4

LCD =4

. 3/8

LCD =8

. 13/80

LCD =80

5/6
LCD =6

. 7/24

LCD = 24

. 1/6

LCD =6

. 4/9

LCD =9

. 5/96

LCD =96

. 2/9(=4/18)

LCD =18

. 1/15(=8/120)

LCD =120

. 3x4 = 12 (cost of 3 binders)

20 - 12 = 8 (cost of pencils)
8+4 = $2 (a pencil)

. 2x2 = $4 (change)
. 4x4=16

3x2=06
6+ 16=%22

3x(80 + 40) =

. 3% (100 + 40) = $7.50
. 10-(5%0.69+3%0.29+1.88x1) = $3.80
. 1.5x16 = 24

242 =12

. 321 +3=810
. 3x1200x2 +2x1200x3 = 1200 + 900

= 2100
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70.

71.

72.
73.
74.

75.

76.
77.

N
13+3+13=33hr
6:00+3:45 = 9:45

20

E: = 1/6

30 1_
—=i=1/4

3 x12 = 7.5 million
12x3 =4

12+ 4 =816
20x5 =5
20-5=%$15

25%

50%

MAT 250 (T2

78.
79.
80.
81.
82.
83.
84.
85.
86.
87.

88.
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Issuec 3

75%
20%

40%

60%

80%

2/5

24x%-6=15
1=0.25=25%

D

2%=8

8%20 = 160 cm?
75%x28 = $x28 = 21
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